—

a
din (R/A R) din (1/2)

Nemissions

Ratio to ATLAS

=
= N

NEJS
o

0.6

0.4

0.2

0.5

13000 GeV pp Jets
I L Y [ B B B B I
B IN(R/A R) (Lund plane 4.02<In(1/z)<4.30) ]
B m ATLAS ]
| --0-- Herwig++ 2.6.3 default H
. --d-- Herwig 7.2.1 default |
B BB |

’ TH

- N . _
- N i
g " = |
— EQ\ R —
B 8. § |
L .. -
— .'"T':l—.—zr
- =Rz = bS]

= g _____ ____El-\:ﬂ‘:- - @1'—1__@—-—— 8 _ .

° CEE S A = g

| " 1 1 1 1 | 1 1 1 1 " | " 1 1 1 1 | 1 1 1 1 " | " 1 1
0 1 2 3 4

In (RIA R)

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


